PHY 303K Master Equation Sheet

Understanding the meaning of these equations and
learning to successfully apply them to solve physics
problems is a major learning goal of this course. They

can empower you to understand physics in your
everyday life, prepare you for physics contexts found
in your career, and deepen appreciation of the world
around us.

Geometry, Kinematics, and Statics
Units and Constants
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Vectors and Coordinates
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Motionin1, 2, and 3D
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Statics, Friction, and Linear Elasticity
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Newton’s Laws, Linear and Angular Dynamics
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Terrestrial and Celestial Mechanics

Work and Energy
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Momentum and Collisions
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Oscillations, Waves, and Sound



Simple Harmonic Oscillations

Wspo = 4/ k/m Wpend = g/l
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Waves
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